

Timber sales Tender of standing timber & logs

Scotland's National Forest Estate is responsibly managed to the UK Woodland Assurance Standard.





www.forestryandland.gov.scot

Forestry and Land Scotland

Tender of Standing and Roadside Logs

To be opened at FLS Scotland, Head Office On 22nd June 2022 at 12.00 hours

Sawlogs at Roadside .. 13600 m3ub And..... 14250 Tonnes

Standing Timber..... 225794 m30BS

Please note this catalogue is for information only and bids received using the tender form attached will be excluded from the sale.

All bids for this sale must be submitted through the E-sales system.

For information on registering as an E-sales user please contact Marketing and Sales team at 0131 370 5541

General Conditions of Sale

All timber on offer in this sale is covered by Chain of Custody Certificate No FSC: SA-FM/COC-007002 and PEFC: SA-PEFC-FM/COC-007002. These certificates were issued on 12 November 2019 under the QUALIFOR Programme by SGS Forestry.

- The sale of each Lot is subject to the Standard Contract, specimens of which may be obtained from the Chief Executive, Forestry and Land Scotland, Great Glen House, Leachkin Road, Inverness, IV3 8NW (Telephone: 0131 370 5541). These agreements describe the normal terms of trading; application of these terms, which is at the sole discretion of Forestry and Land Scotland, is subject to the establishment of satisfactory credit worthiness.
- 2. The description of the trees in the Sale Catalogue is believed to be accurate but is not guaranteed except as to the number of trees in tariffed Standing Timber Agreements offered for a lump sum. In all other respects the Purchaser is held as satisfying himself as to the description of the Sale Lots.
- 3. Arrangements to inspect the timber should be made direct with the Forest District staff listed. An address list is on the last page of this catalogue. Site boundaries will be clearly marked in a common manner. External boundary trees will be marked with white tape or marking, i.e. the trees to be left standing after harvesting operation. Purchasers will be deemed to have acquainted themselves with arrangements for access and constraints, if any, in respect of each Lot, details of which are also available from the Forest District.
- 4. Prospective purchasers are advised to consult a copy of the map of timber haulage (preferred) routes on public roads before bidding for the lots where these apply. Copies of all the maps together with a statement of preferred routes are held by the Regional Managers also all local authority Divisional road Surveyors within the Region.
- 5. The commencement and completion dates for all agreements are as indicated against each Lot in the catalogue.
- 6. No Lot carries entitlement to continuity of supplies of timber outside the terms and conditions of the Agreement.
- 7. All bids/offers shall be exclusive of Value Added Tax, which shall be added to the purchaser price of each Lot at the appropriate rate.
- Conditional Bids FLS shall only consider conditional bids for Roadside lots if they meet the terms laid out in Particulars of Sale, Logs at Roadside, paragraphs 10 – 13.

Standing Timber

- 1. Lots are either offered for lump sum bids or bids per tonne as clearly described on the top of each page in this catalogue.
- 2. Lots offered for lump sum bids All volume estimates have been derived from a full Tariff unless otherwise stated. Tariff sheets may be inspected by appointment at the relevant Regional Office. Volumes quoted for such sales in this catalogue are estimates of the volume of the standing trees only. The prospective purchaser shall therefore be deemed to have formed his own estimate of volume and nothing herein or in the said record shall be taken as a representation including a contract or as a condition or warranty forming part of the contract if and where made.
- 3. Purchasers will be deemed to have satisfied themselves as to the occurrence of butt rot and stain and no subsequent allowance or reduction will be made.
- 4. Prospective purchasers are advised to obtain a copy of the Harvesting Site Plan from relevant Regional Managers for each standing sale. These plans detail specific operational requirements for each sale parcel.
- 5. Purchasers will be deemed to be acquainted with the provisions of Forestry and Land Scotland's Forests and Water Guidelines publication and to ensure that they are accorded with in their harvesting operations

Logs at Roadside

- 6. Presentation of sawlogs for sale will be in accordance with the Forestry Commission's Field Book No.9 "Classification and Presentation of Softwood Sawlogs", a copy of which can be obtained on request from the Chief Executive, Forestry and Land Scotland, 1 Highlander Way, Inverness Business Park, Inverness IV2 7GB
- 7. Lots are either offered for a price per cubic metre underbark or for a price per tonne as clearly described on the top of each page in this catalogue.
- 8. Where lots are offered for a price per cubic metre underbark the volume of the timber will be calculated from the weight of loads supplied, converted to volume using volume/weight fixed conversion factors where such agreements currently exist between Forestry and Land Scotland and relevant parties. Successful purchasers that do not have an agreement for fixed conversion factors with Forestry and Land Scotland shall be given the opportunity to adopt the relevant fixed conversion factor(s) based on the national data set within the relevant supplying location. Failing such an agreement being reached, conversion factors shall be calculated from measurements of the

volume of 1:10 sample loads. The volume of the sample loads will be obtained by the methods described in Field Book 9.

- 9. The average DBH of the standing trees from which the logs will be produced is an estimate only, provided for the guidance of prospective purchasers - it is not guaranteed.
- 10. Forestry and Land Scotland (FLS) carefully consider the log specification, including the product range, for sawlogs and roundwood and advertise them for sale at roadside on this basis. In the event of a conditional bid being placed, FLS shall only consider a request to change that specification if it falls within the Minimum Top Diameter, Minimum and Maximum lengths and Average DBH as advertised in the sale catalogue. Any condition outwith this range shall be excluded.
- 11. Conditional bids that do not influence the advertised specification and therefore the value of the sale lot shall of course be considered wherever possible.
- 12. In the event of a conditional bid being accepted, FLS reserve the right to vary the contract volume if the breakout is adversely affected.

13. Conditional Bids must be recorded on a Lot by Lot Basis. FLS shall not accept conditional bids condensed into 1 single Lot and covering multiple lots. FLS reserve the right to exclude any conditional bids that are not correctly submitted on a Lot by Lot basis

Species Codes and Abbreviations

LP CP MP	Scots Pine Lodgepole Pine Corsican Pine Mixed Pine
CP MP	Corsican Pine Mixed Pine
MP	Mixed Pine
EL	European Larch
ESF	Silver Fir
HL	Hybrid Larch
JL .	Japanese Larch
ML	Mixed Larch
NS	Norway Spruce
SS	Sitka Spruce
MS	Mixed Spruce
DF	Douglas fir
GF	Grand fir
NF	Noble fir
WH	Western Hemlock
OMS 3	Serbian Spruce
MOP	Mountain Pine
LC	Lawson's Cypress
RC	Western Red Cedar
MC	Mixed Conifer
MB	Mixed Broadleaves
BE	Beech
RON	Nothofagus Obliqua
cm	Centimetres
m ³	Cubic Metres
m	Metres
TD ⁻	Top Diameter
UB	Underbark
ОВ	Overbark
DBH	Diameter at Breast Height
На	Hectares

FORESTRY AND LAND SCOTLAND - STAFF LIST

Forestry and Land Scotland Great Glen House	Simon Hodgson	-	ChiefExecutive
Leachkin Road	Graeme Prest	-	Head of Land Management
Inverness IV3 8NW	Mick Bottomley	-	Head of Marketing and Sales 0131 370 5575 (direct line)
Tel No: 0131 370 5541	Graham Godsman	-	Marketing and Sales Business Manager 0131 370 5545 (direct line)

AREA OPERATIONS REGIONS

North Region

Inverness Forest District Office Smithton, Inverness, IV1 2NL Tel No: 0131 370 5965 <u>Forest Districts within Region</u> North Highland Forest District Inverness Ross & Skye Forest District Alex MacLeod Hazel Maclean Natalie Davies Ian Allsopp

- Delivery Manager
- Assistant Delivery Manager
- Assistant Delivery Manager
- Assistant Delivery Manager

East Region

Ordiquhill, Portsoy Road, Huntly AB54 4SJ Tel No: 0131 370 5100 01466 – 794161 <u>Forest Districts within Region</u> Moray & Aberdeenshire Forest District Tay FD

Central Region

Cowal & Trossachs Forest District Office Aberfoyle, Stirling FK8 3UX Tel No: 0131 370 5674 <u>Forest Districts within Region</u> Cowal & Trossachs Forest District Scottish Lowlands Forest District

West Region

West Argyll Forest District Office Whitegates, Lochgilphead, PA31 8RS Tel No: 0131 370 5200 <u>Forest Districts within Region</u> West Argyll Forest District Lochaber Forest District

South Region

Galloway Forest District Office Creebridge, Newton Stewart, DG8 6AJ Tel No: 0131 370 5900 Forest Districts within Region Galloway Forest District Dumfries & Borders Forest District Alastair Young/Andrew Sheridan - Delivery ManagerSean Miller- Assistant Delivery ManagerDan Cadle- Assistant Delivery ManagerPaul Raisbeck- Assistant Delivery Manager

Matt Young Russell Lamont Delivery ManagerAssistant Delivery Manager

James Robins- Delivery ManagerTommy McGrory- Assistant Delivery ManagerAntonia Dunwoody- Assistant Delivery ManagerKenneth Knott- Assistant Delivery Manager

Julie Wilby Emma Gray Sandy White Hugh McKay

- Delivery Manager
- Assistant Delivery Manager
- Assistant Delivery Manager
- Assistant Delivery Manager

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFEREI (EXCLUDING VAT)
01	WEST ARGYLL	Clearfell							04/07/22 to	£
	Barmaddy	5% windthrow	SS	9398	16537	0.568	26	B6	31/12/22	
			SS	1071	4067	0.263	20	B6		
	F41883			10469	20604	0.508				Per tonne
									Estimated weigh	nt 8443 tonnes
	Urea is required. Environme in south of the site working r	ntal constraint may delay stan northwards.	rt date for harv	esting ops whic	ch are to star	t			-	

1.02	WEST ARGYLL	Clearfell						04/07/22 to	£
	Allt Bhacain	18% windthrow	SS	11537	21569	0.535	25 B6	31/12/22	
			JL	1318	2479	0.532	27 B6		
	F41884		NS	451	1676	0.269	21 B6		Per tonne
				13306	25724	0.517		Estimated weight 10	0649 tonnes

This site does not require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR STANDING TREES 22 June 2022

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.03	NORTH HIGHLAND	Clearfell							04/07/22 to	£
	Borgie Druim Meleag	30% windthrow	LP	5890	26453	0.223	22	B6	31/07/23	
			SS	5090	15080	0.338	24	NA		
	_		LP	2688	11343	0.237	20	B6		Per tonne
	F41831		LP	1144	7410	0.154	17	B6		
			JL	502	1814	0.277	20	B6	Estimated weight 126	643 tonnes
				15314	62100	0.247				

This site will require Urea application.

04	INVERNESS,ROSS, SKYE	Clearfell							15/08/22 to	£
	Macalpine 3	10% windthrow	LP	12720	45432	0.280	20	B6	31/03/23	
			LP	4244	17143	0.248	19	B6		
			LP	1680	5442	0.309	21	B6		Per tonne
	F41824		SS	144	113	1.274	39	B6		
									Estimated weigh	t 15783 tonnes
				18788	68130	0.276				

This site does not require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT LOCATION SALE Species Est Vol Number Mean dbh Tariff SUPPLY AMOUNT OFFERED NO TYPE m3obs of Trees Method PERIOD (EXCLUDING VAT) tree size **INVERNESS, ROSS, SKYE** £ 1.05 Clearfell 01/08/22 to Black Forest 35% windthrow LΡ 2089 25 B6 31/03/23 4836 0.432 LΡ 1768 3048 0.580 27 B6 SS 1168 2021 0.578 27 B6 Per tonne F41825 SS 716 2692 0.266 20 B6 SS 337 Estimated weight 5255 tonnes 991 0.340 21 B6 LΡ 105 230 0.457 26 B6 SP 95 549 0.173 19 B6 SS 61 70 32 B6 0.871 6339 14437 0.439

2022

TENDER FORM FOR STANDING TREES 22 June

This site does not require Urea application.

FORESTRY AND LAND SCOTLAND

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

FORES	TRY AND LAND SCOTLAND	TEN	IDER FORM FO	R STANDING T	REES 22 J	une 2022				
LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.06	INVERNESS,ROSS, SKYE	Clearfell							01/08/22 to	£
	Polmaily		SP	2306	6853	0.336	27	B6	31/03/23	
			EL	1874	1412	1.327	35	B6		
			SS	1195	628	1.903	41	B6		Per tonne
	F41845		JL	506	592	0.855	29	B6		
			DF	480	452	1.062	34	B6	Estimated weigh	t 5276 tonnes
				6361	9937	0.640				
	This site does require Urea applic	cation.								
1.07	INVERNESS,ROSS, SKYE	Thinning							01/09/22	£
	Blairidh		SP	2440	9609	0.254	20	B6	to 31/03/23	
			NS	1645	8721	0.189	16	B6		
	F41851		EL	229	767	0.299	19	B6		Per tonne
				4314	19097	0.226			Estimated weigh	at 3752 tonnes
	This site does require Urea applic	cation.								

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR STANDING TREES 22 June 2022

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.08	INVERNESS,ROSS, SKYE	Clearfell							18/07/22 to	£
	Farmers Wood	15% windthrow	LP	4828	25590	0.189	18	B6	31/03/23	
			LP	3367	19150	0.176	18	NA		
			LP	2493	25492	0.098	15	NA		Per tonne
	F41871		SS	981	877	1.119	34	B6		
			JL	581	1615	0.360	22	B6	Estimated weight	t 11173 tonnes
			NS	465	950	0.489	25	B6		
			NF	452	800	0.565	27	B6		
			NS	201	370	0.543	28	NA		
			LP	57	162	0.352	22	B6		
				13425	75006	0.179				

This site does require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFEREI (EXCLUDING VAT)
.09	INVERNESS,ROSS, SKYE	Clearfell							01/08/22 to	£
	Errogie Gate	5% windthrow	LP	6298	16966	0.371	22	B6	30/04/23	
			SS	3028	5195	0.583	25	B6		
			SS	3000	6395	0.469	24	B6		Per tonne
	F41823		SS	2605	1733	1.503	36	B6		
			JL	697	1006	0.693	27	B6	Estimated weigh	nt 12768 tonnes

This site does require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT LOCATION SALE Species Est Vol Number Mean dbh Tariff SUPPLY AMOUNT OFFERED NO TYPE m3obs of Trees Method PERIOD (EXCLUDING VAT) tree size £ 1.10 **COWAL AND TROSSACHS** Clearfell 04/07/22 to Ardoch 18% windthrow SS 42 B6 30/11/22 2815 1485 1.896 SS 1837 1375 1.336 26 B6 SS 439 146 3.007 49 B6 Per tonne F41859 SS 302 135 2.237 46 B6 JL Estimated weight 4488 tonnes 172 72 2.394 46 B6 NS 13 10 1.280 37 B6 5578 3223 1.731

2022

TENDER FORM FOR STANDING TREES 22 June

This site does require Urea application. Coupe includes 20% winch work.

FORESTRY AND LAND SCOTLAND

1.11	SCOTTISH LOWLANDS	Clearfell							11/07/22 to	£
	Twechar 15	5% windthrow	HL	3436	3139	1.095	33	B6	31/10/22	
			JL	414	793	0.522	26	B6		
	F41020		NS	70	45	1.556	44	B6		Per tonne
				3920	3977	0.986			Estimated weigh	t 2888 tonnes

This site does require Urea application. Coupe includes approx 10% winch work. 4 Ramps to be installed post sale.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR STANDING TREES 22 June 2022

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.12	SCOTTISH LOWLANDS	Clearfell							11/07/22 to	£
	Knockupple East	5% windthrow	SS	14792	64244	0.230	19	B6	16/06/23	
			SS	7434	30559	0.243	20	B6		
	F41791		SS	742	3056	0.243	20	NA		Per tonne
				22968	97859	0.235			Estimated weigh	nt 18522 tonnes

This site does not require UREA application. All trees within Coupe boundary must be felled, including any check.

13	GALLOWAY	Clearfell							27/06/22 to	£
	Culsharg	5% windthrow	SS	4935	12037	0.410	23	B6	31/03/23	
			SS	3213	7128	0.451	24	B6		
			SS	1146	3952	0.290	21	B6		Per tonne
	F40616		HL	209	1020	0.205	18	B6		i ci tonne
			SS	173	1716	0.101	15	B6	Estimated weigh	t 7800 tonnes
			SS	14	233	0.060	13	B6		
				9690	26086	0.371				

This site does not require Urea application. This coupe is located within a larger strategic deer fence.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

от Ю	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERE (EXCLUDING VAT)
14	GALLOWAY	Clearfell							18/07/22 to	£
	Dinmurchie Quarry	5% windthrow	SS	5712	15778	0.362	22	B6	31/01/23	
			SS	1295	12484	0.104	15	B6		
	F41862			7007	28262	0.248				Per tonne
									Estimated weigh	nt 5650 tonnes
	This site does not require Urea	a application.							Estimated weigh	nt 5650 tonnes
15	This site does not require Urea	a application. Clearfell							15/07/22	nt 5650 tonnes £
15			SS	5389	10166	0.530	25	B6		
15	GALLOWAY		SS LP	5389 660	10166 1839	0.530 0.359	25 23	B6 B6	15/07/22 to	
15	GALLOWAY								15/07/22 to	
15	GALLOWAY Grey Mares Tail Burn			660	1839	0.359			15/07/22 to	£ Per tonne

TENDER FORM FOR STANDING TREES 22 June 2022

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:00 hours on 22 June 2022 unless otherwise notified as set out above.

FORESTRY AND LAND SCOTLAND

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.16	GALLOWAY	Clearfell							27/06/22 to	£
	Kirriedarroch 30	30% windthrow	SS	1648	2192	0.752	27	B6	31/03/23	
		SS	1574	1318	1.194	33	B6			
			SS	586	252	2.325	44	B6		Per tonne
	F41865		NS	372	545	0.683	28	B6		
			NS	103	125	0.824	30	B6	Estimated weight	3467 tonnes
				4283	4432	0.966				

TENDER FORM FOR STANDING TREES 22 June 2022

This site does not require Urea application.

FORESTRY AND LAND SCOTLAND

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.17	DUMFRIES AND BORDERS	Clearfell							11/07/22 to	£
	Bail Fell	50% windthrow	SS	10484	14980	0.700	28	B6	31/07/23	
			SS	6573	9403	0.699	28	NA	P	
			SS	5757	10602	0.543	26	B6		Per tonne
	F41837		SS	3270	6082	0.538	26	NA		
			HL	200	1600	0.125	16	NA	Estimated weigh	nt 21242 tonnes
			JL	80	7200	0.011	7	NA		
				26364	49867	0.529				

TENDER FORM FOR STANDING TREES 22 June 2022

This site does not require Urea application. Steep slopes on site and limited road frontage.

FORESTRY AND LAND SCOTLAND

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR STANDING TREES 22 June 2022

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.18	DUMFRIES AND BORDERS	Clearfell							18/07/22	£
	Screel Chapelyard	60% windthrow	SS	3922	1489	2.634	45	B6	to 30/04/23	
			SS	3049	1107	2.754	48	B6		
			DF	2374	1031	2.303	46	B6		Per tonne
	F41843		DF	979	475	2.061	42	B6		
			HL	166	120	1.383	35	A4	Estimated weight 8	3413 tonnes
			NS	155	73	2.123	43	A4		
				10645	4295	2.478				

No Urea application required. Very large trees requiring specialised machinery and techniques. Estimated 60% windblow mostly from storms in late 2021.

19	DUMFRIES AND BORDERS	Clearfell							05/07/22 to	£
	Fortypenny Burn	8% windthrow	SS	15744	47419	0.332	22	B6	31/10/23	
			SS	6340	23822	0.266	20	B6		
	F41892		SS	3262	19648	0.166	18	B6		Per tonne
				25346	90889	0.279			Estimated weight	20441 tonnes

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIF	PTION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.01	MORAY, ABERDEENSHIRE	16 cm	850 M3UB Roadside	3.7 - 4.9 m 43	06/07/22 to 31/12/22	£
	Pitfichie Entrance 4	DF	Green Logs			Per m3UB
	F41882			This lot consists of approx 8 3.7s.	8% of 4.9s and approx 12% of	
2.02	MORAY, ABERDEENSHIRE	16 cm	2000 M3UB Roadside	3.6 - 4.8 m 26	04/07/22 to 28/10/22	£
	Correen Hills	MS	Green Logs			Per m3UB
	F41917					
2.03	COWAL AND TROSSACHS	16 cm	2500 M3UB Roadside	3.7 - 4.9 m 30	04/07/22 to 04/09/22	£
	The Lucky Ones	MS/ML	Red Logs(80%Green)			Per m3UB
	F41846	96/4		This is a Green log parcel w column 3 for species % split	ith 20% Red log element. See a. Approx 40% of 3.7s.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.04	GALLOWAY	16 cm	500 M3UB Roadside	4.9 - 4.9 m 24	27/06/22 to 30/09/22	£
	Doon Cairn	SS	Red Logs(70%Green)			Per m3UB
	F41872			This is a Green log parcel wi	ith a 30% Red log element.	
2.05	GALLOWAY	16 cm	500 M3UB Roadside	4.9 - 4.9 m 24	27/06/22 to 30/09/22	£
	Black Strand	SS	Red Logs(70%Green)			Per m3UB
	F41880			This is a Green log parcel w	ith a 30% Red log element.	
2.06	DUMFRIES AND BORDERS	16 cm	1500 M3UB Roadside	4.9 - 4.9 m 24	30/06/22 to 30/11/22	£
	Loch Rig	MS	Red Logs(70%Green)			Per m3UB
	F41909			This is a Green log parcel wi	ith a 30% Red log element.	
	I	I	I	I		I

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.07	MORAY, ABERDEENSHIRE	16 cm	1000 M3UB Roadside	3.6 - 3.6 m 26	04/07/22 to 30/09/22	£
	Aultmore	MS	Red Logs			Per m3UB
	F41916			Material harvested betwee Please note maximum top		
2.08	COWAL AND TROSSACHS	14 cm	250 M3UB Roadside	2.5 - 2.5 m 22	04/07/22 to 22/08/22	£
	Captain Kirkton	SS	Pallet			Per m3UB
	F41861					
2.09	GALLOWAY	14 cm	500 M3UB Roadside	2.5 - 3.1 m 24	27/06/22 to 30/09/22	£
	March Burn	SS	Short Green A			Per m3UB
	F41873					
	I		I	I		1

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIP	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM	COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.10	GALLOWAY	14 cm	500 M3UB Roadside	2.5 - 3.1 m 24	27/06/22 to 30/09/22	£
	Puldow Strand F41874	SS	Short Green A			Per m3UB
2.11	GALLOWAY Rig Of Kirriereoch F41875	14 cm SS	1000 M3UB Roadside Short Green A	2.5 - 3.1 m 24	27/06/22 to 30/09/22	£ Per m3UB
2.12	GALLOWAY Black Strand F41879	SS	750 M3UB Roadside Short Green A	2.5 - 3.1 m 24	27/06/22 to 30/09/22	£ Per m3UB

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

		LOG DESCRIF	non			
LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH	MEAN	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
GALLOWAY	14 cm	750 M3UB Roadside	2.5 - 3.1 m 2	24 2	27/06/22 to 30/09/22	£
Cats Craig	SS	Short Green A				Per m3UB
F41881						
DUMFRIES AND BORDERS	14 cm	1000 M3UB Roadside	1.9 - 3.1 m 2	22 3	30/06/22 to 30/11/22	£
Loch Rig	MS	Short Green A				Per m3UB
F41913						
COWAL AND TROSSACHS	30 cm	200 Tonnes Roadside	4.9 - 4.9 m 4	40 0	04/07/22 to 25/08/22	£
Black Pearl	MS	Other Logs				Per tonne
F41860			Green log percenta	tage is appro	oximately 80%.	
	GALLOWAY Cats Craig F41881 DUMFRIES AND BORDERS Loch Rig F41913 COWAL AND TROSSACHS Black Pearl	DIAMETER UB AND SPECIESGALLOWAY14Cats Craig F41881SSF41881SSDUMFRIES AND BORDERS14Loch Rig F41913MSF41913MSCOWAL AND TROSSACHS30Black PearlMS	DIAMETER UB AND SPECIESOF SALE AND CLASSIFICATIONGALLOWAY14cm750 M3UBRoadsideCats Craig F41881SSSSShort Green AShort Green ADUMFRIES AND BORDERS14cm1000 M3UBRoadsideLoch Rig F41913MSShort Green AShort Green ACOWAL AND TROSSACHS30cm200 TonnesRoadsideBlack PearlMSOther LogsCother LogsState Cother Logs	DIAMETER UB AND SPECIESOF SALE AND CLASSIFICATIONLENGTH SPECIFIEDGALLOWAY14 cm750 M3UBRoadside2.5 - 3.1 mCats Craig F41881SSShort Green AShort Green A2.5 - 3.1 mDUMFRIES AND BORDERS14 cm1000 M3UBRoadside1.9 - 3.1 mLoch Rig F41913MSShort Green AShort Green A1.9 - 3.1 mCOWAL AND TROSSACHS30 cm200 TonnesRoadside4.9 - 4.9 mBlack PearlMSOther LogsOther Logs1.9 - 3.1 m	DIAMETER UB AND SPECIESOF SALE AND CLASSIFICATIONLENGTH SPECIFIEDMEAN 	DIAMETER UB AND SPECIESOF SALE AND CLASSIFICATIONLENGTH SPECIFIEDMEAN DBH (CM)COMPLETION DATEGALLOWAY14 cm750 M3UBRoadside2.5 - 3.1 m2427/06/22to 30/09/22Cats Craig F41881SSSSShort Green AAImage: Short Green AImage: Short Gree

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIPT	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.16	GALLOWAY	35 cm	500 Tonnes Roadside	4.9 - 4.9 m 40	27/06/22 to 30/09/22	£
	Shaw Hill 2	SS	Other Logs			Per tonne
	F41876			Green log percentage is appr	roximately 60%.	
2.17	GALLOWAY	35 cm	500 Tonnes Roadside	4.9 - 4.9 m 40	27/06/22 to 30/09/22	£
	Airie Burn	SS	Other Logs			Per tonne
	F41877			Green log percentage is appr	roximately 60%.	
2.18	GALLOWAY	35 cm	500 M3UB Roadside	4.9 - 4.9 m 40	27/06/22 to 30/09/22	£
	Auchenloy Hill	мс	Other Logs			Per m3UB
	F41878			Green log percentage is appr	roximately 60%.	
	I	I	I	I		1

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.19	DUMFRIES AND BORDERS	30 cm	500 Tonnes Roadside	4.9 - 5.0 m 45	30/06/22 to 30/11/22	£
	Loch Rig	MS	Other Logs			Per tonne
	F41914			Green log percentage is app	proximately 30%.	
2.20	MORAY, ABERDEENSHIRE	16 cm	175 Tonnes Roadside	3.4 - 4.9 m 29	06/07/22 to 31/10/22	£
	Gartly Ramorum	ML	Other, General			Per tonne
	F41885			Red log percentage is appr Phytophora infected Larch, t / haulage licence is required	herefore a plant health processing	
2.21	MORAY, ABERDEENSHIRE	25 cm	350 Tonnes Roadside	4.8 - 4.9 m 32	06/07/22 to 30/11/22	£
	Kinnoir (Mungo)	MS	Other, General			Per tonne
	F41890			Red log percentage is appro minimum top diameter for th 85cm	eximately 40%. Please note is lot is 25cm and max diameter is	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIPT			
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH MEAI SPECIFIED DBH (C	N COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.22	GALLOWAY	7 cm	1000 Tonnes Roadside	2.9 - 3.0 m 24	27/06/22 to 30/09/22	£
	Airie Burn F41848	МС	Chipwood			Per tonne
2.23	GALLOWAY Downies Burn F41849	7 cm MC	2000 Tonnes Roadside Chipwood	2.9 - 3.0 m 24	27/06/22 to 30/09/22	£ Per tonne
2.24	GALLOWAY Tairlaw F41850	7 cm MC	500 Tonnes Roadside Chipwood	2.9 - 3.0 m 24	27/06/22 to 30/09/22	£ Per tonne

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

	LOCATION		LOG DESCRIP	1		
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.25	DUMFRIES AND BORDERS	7 cm	2000 Tonnes Roadside	3.0 - 3.0 m 20	30/06/22 to 30/11/22	£
	Loch Rig	MC	Chipwood			Per tonne
	F41915					
2.26	WEST ARGYLL	7 cm	800 Tonnes Roadside	2.0 - 4.8 m 23	04/07/22 to 31/10/22	£
	Inverinan	MC	Woodfuel			Per tonne
	F41897			This lot comprises of approx	kimately 20% deadwood.	
2.27	WEST ARGYLL	7 cm	1100 Tonnes Roadside	3.0 - 3.6 m 23	04/07/22 to 31/10/22	£
	Loch Avich	МС	Woodfuel			Per tonne
	F41908			This lot comprises of approx		
	I		1	I		I

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

	LOCATION	LOG DESCRIPTION				
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.28	WEST ARGYLL	7 cm	1000 Tonnes Roadside	3.0 - 4.8 m 26	04/07/22 to 31/10/22	£
	Inverliever	MC	Woodfuel			Per tonne
	F41910			This lot comprises of approx	imately 20% deadwood.	
2.29	WEST ARGYLL	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 27	04/07/22 to 31/10/22	£
	Ormaig	MC	Woodfuel			Per tonne
	F41911			This lot comprises of approx	imately 20% deadwood.	
2.30	WEST ARGYLL	7 cm	1100 Tonnes Roadside	3.0 - 3.1 m 27	04/07/22 to 31/10/22	£
	Succoth	SS	Woodfuel			Per tonne
	F41912			This lot comprises of approximately 20% deadwood.		
		I	1	I		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

	LOCATION		LOG DESCRIP			
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.31	MORAY, ABERDEENSHIRE	25 cm	325 Tonnes Roadside	2.5 - 2.5 m 26	04/07/22 to 31/08/22	£
	Aultmore	MS	Woodfuel			Per tonne
	F41621			This lot comprises approx. 1 Consists of 2.5m length butt Please note minimum diame		
2.32	NORTH HIGHLAND	7 cm	500 Tonnes Roadside	4.0 - 4.9 m 16	04/07/22 to 30/09/22	£
	Fourpenny 1	МС	Woodfuel			Per tonne
	F41839			This lot comprises approx. 1	0% deadwood.	
2.33	NORTH HIGHLAND	7 cm	100 Tonnes Roadside	4.0 - 4.9 m 16	04/07/22 to 30/09/22	£
	Fourpenny 2	МС	Woodfuel			Per tonne
	F41840			This lot comprises approx. 1	0% deadwood.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 22 June 2022

			LOG DESCRIPTI			
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.34	NORTH HIGHLAND	7 cm	100 Tonnes Roadside	4.0 - 4.9 m 16	04/07/22 to 30/09/22	£
	Fourpenny 3	MC	Woodfuel			Per tonne
	F41841			This lot comprises approx. 10% deadwood.		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.